$$Representations of SU(2) and SO(3)$$

$$SO(3) = \{R \in \mathbb{R}^{3\times3} : RR^{T} = 1\}$$

$$P(3) = \text{Lie algebra of the Lie group SO(3)}$$

$$= \text{tangent space to SO(3) at 1 \in SO(3)}$$

$$R(t) = R(t) = 1$$

$$R(t) = R(t)^{T} = 1 \quad \forall t$$

$$R(t) = R(t)^{T} = 1 \quad \forall t$$

$$R(t) = R(t)^{T} = 1 \quad \forall t$$

$$R(t) = R(t)^{T} = 0$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3\times3} : X + X^{T} = 0 = 3\times3 \text{ shew}$$

$$R(t) = R^{3$$

$$\frac{SU(2)}{2} = \left\{ U \in \mathbb{C}^{2\times 2} : U\overline{U}^{T} = 1 \quad \text{and} \quad \det U = 1 \right\}$$

$$= \left\{ \left(\begin{pmatrix} \varphi & -\overline{\beta} \\ \varphi & \overline{\alpha} \end{pmatrix} \right) : \kappa_{\beta} \in \mathbb{C} \quad \text{and} \quad |\kappa|^{2} + |\beta|^{2} = 1 \right\}$$

$$\kappa = \kappa_{0} + i \kappa_{1} \quad \beta = \kappa_{2} + i \kappa_{3} \qquad \kappa_{0}^{2} + \kappa_{1}^{2} + \kappa_$$

 $\frac{2}{2}$ go(3) via correspondence $\Sigma_i \mapsto X_i$

What is the relation between
$$SU(2)$$
 and $SO(3)$?
Adjoint action Any Lie group G has
a natural action (represent.)
on its Lie algebra g .
(called the adjoint representation).
Ex.: $SU(2) \ni U$ $X \in SU(2)$
 $Ad_{U}(X) = UXU^{T}$
 $(uxu^{T})^{T} = u^{T}X^{T}U^{T}$
 $= UXU^{T}$
 $uxu^{T} \in SU(2) = u_{1}u_{2}X(u,u_{2})^{T}$
 $= Ad_{u_{1}}(Ad_{u_{2}}(X))$
 $T : SU(2) \longrightarrow L(SU(2))$
 $U \longmapsto Ad_{u}$
 $\pi(u,u_{2}) = \pi(u_{1}) \circ \pi(u_{2})$

SU(2) has a 3d representation:
the Adjoint regin on Au(2)
a general element in Su(2) would be

$$a X_1 + b X_2 + c X_3 = -\frac{1}{2} \begin{pmatrix} c & a-ib \\ a+ib & -c \end{pmatrix}$$

det $(a X_1 + b X_2 + c X_3) = -\frac{1}{4} \begin{pmatrix} -c^2 - a^2 - b^2 \end{pmatrix}$
 $= \frac{1}{4} \begin{pmatrix} a^2 + b^2 + c^2 \end{pmatrix} \begin{pmatrix} Euclidean \\ Norma \\ MR^3! \end{pmatrix}$
We can think of a vector $(a,b,c) \in \mathbb{R}^3$
 $a = vector Xin Xu(2), and its Euclidean
squared norm is just det X.
But then det $(U X U^{-1}) = det X$
implies that $Ad_U : \mathbb{R}^3 \to \mathbb{R}^3$ preserves
Euclidean norm , so is an elt of SO(3)!
Homoom of groups $SU(2) \xrightarrow{-} SO(3)$
 $U \longmapsto Ad_U$$

Proputies of
$$T$$
:
() T is surjective: any RESO(3)
is a rot. by t radians about some
axis. Thoose basis s.t. axis = Z-axis
wlog we may assume
 $R = e^{t\Sigma_3} = \begin{pmatrix} cost - sint & o \\ sint & cast & o \\ o & 0 & 1 \end{pmatrix}$
want: elt $U \in SU(2)$ s.t. Ad_{U}
compute deniv. of T
 D_{T} : $Su(2) \longrightarrow So(3)$.
 $X_i \in Su(2)$ generates path $e^{tX_i} \in SU(2)$
acts on $So(3)$ via
 $T(e^{tX_i})(x) = Ad_{e^{tX_i}}(X) = e^{tX_i} X e^{-tX_i}$
 $D_{T} (X_i) : X \longmapsto d_{T}|_{t=0} e^{tX_i} X e^{-tX_i} = X_i X - XX_i$

$$D\tau(X_{1}) : X \mapsto [x_{1}, x_{1}] = 0$$

$$X_{1} \mapsto [x_{1}, x_{2}] = X_{3}$$

$$X_{3} \mapsto [x_{1}, x_{3}] = -[x_{3}, x_{1}] = -X_{2}$$

 $DT(X_1) \quad is \quad transf. \quad of \quad \mathbb{R}^3 = Su(2)$ which on basis (X_1, X_2, X_3) has matrix $\int_{-\infty}^{\infty} \left(\begin{array}{c} 0 & 0 & 0 \\ 0 & 0 & -1 \\ 0 & 1 & 0 \end{array} \right)$

$$D\tau(X_2) \text{ acts on basis of } Su(2) \text{ via.}$$

$$X_1 \longmapsto [X_2, X_1] = -[X_1, X_2] = -X_3$$

$$X_2 \longmapsto [X_2, X_2] = 0$$

$$K_3 \longmapsto [X_2, X_3] = X_1$$
So has matrix
$$\begin{pmatrix} 0 & 0 & 1 \\ 0 & 0 & 0 \\ -1 & 0 & 0 \end{pmatrix} = Z_2$$

$$D\tau(X_1) = Z_1 \qquad i = 1, 2, 3$$

Summary: SU(2) ⇒ U → Adu ∈ SO(3) has derivative Dz: Su(2) → So(3) which is an isomorphism of Lie algebras with Dz (Xi) = Zi i=1,2,3. Mening: Just kears Dz Konephin, door if man Zi?! U(1) → U(1) e¹⁰ → e²¹⁰ Surjudice but not injective: When e¹⁰=1 and e¹⁰=1

()
$$T$$
 is surjective: any $R \in SO(3)$
is a rot. by t radians about some
axis. Choose basis s.t. axis = Z -axis
wlog we may assume
 $R = e^{t\Sigma_3} = \begin{pmatrix} cost - sint o \\ sint cost o \\ o & 1 \end{pmatrix}$
want: elt $U \in SU(2)$ s.t. Ad_U

one send to 1

to find ucsult) s.t.
$$\tau(u) = R$$
,
 $e^{t X_3} = expt\left(\begin{smallmatrix} -\frac{i}{2} & 0\\ 0 & +\frac{i}{2} \end{smallmatrix}\right)$
 $= \left(e^{-ith} & 0\\ 0 & e^{ith}\right) = U(t).$

but notice if $t = 2\pi$ we have

$$e^{2\pi X_3} = \begin{pmatrix} -1 & 0 \\ 0 & -1 \end{pmatrix}$$
 whereas

$$e^{2\pi \hat{z}_{3}} = \begin{pmatrix} 1 & & & \\ co_{2} 2\pi & -sin_{2}\pi \\ & sin_{2}\pi & cond \end{pmatrix} = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}$$
$$T \begin{pmatrix} -1 & 0 \\ 0 & -1 \end{pmatrix} = \begin{pmatrix} 1 & & \\ 1 & & \\ & & 1 \end{pmatrix}$$

check: ker T = ±1 in SU(2)

$$| \rightarrow \{\pm 1\} \longrightarrow SU(2) \longrightarrow SO(3) \rightarrow |$$



Representations of SU(2)
Recall
$$(u(1))$$
 has irreducible representations
labeled by an integer k "weight"
 $(u(1)) \xrightarrow{T_{k}} L(C)$
 $e^{i\theta} \longrightarrow [e^{ik\theta}]$ linear op on C
Inside SU(2) we have a (infect many) copy of U(1).
H = $\sigma_{3} = \begin{pmatrix} i & 0 \\ 0 & -1 \end{pmatrix}$ symmetry a U(1) C SU(2)
 $e^{i\theta}\sigma_{3} = \begin{pmatrix} e^{i\theta} & 0 \\ 0 & e^{i\theta} \end{pmatrix}$ $(u(1) \rightarrow SU(2))$
 $= difines a 2d C rep'n of U(1)$
 $T (e^{i\theta}) = \begin{pmatrix} e^{i\theta} & 0 \\ 0 & e^{i\theta} \end{pmatrix} \in L(C^{2})$
 $C^{2} = \begin{pmatrix} C & 0 \\ 0 & e^{i\theta} \end{pmatrix}$ $decompose as a sum $(i \text{ fred. rep'ns with } (e^{i\theta}) = (e^{i\theta} - e^{i\theta}) + (e^{i\theta} - e^{i\theta}) + (e^{i\theta} - e^{i\theta}) = (e^{i\theta} - e^{i\theta}) + ($$

So far we used σ_3 (since ; + is diagonalized) look now at the others: $\sigma_1 = \begin{pmatrix} 0 \\ 1 \end{pmatrix} \quad \sigma_2 = \begin{pmatrix} 0 & -i \\ i & 0 \end{pmatrix}$

$$\begin{cases} E = \frac{\sigma_1 + i\sigma_2}{2} = \begin{pmatrix} 0 & 1 \\ 0 & 0 \end{pmatrix} \\ F = \frac{\sigma_1 - i\sigma_2}{2} = \begin{pmatrix} 0 & 0 \\ 1 & 0 \end{pmatrix} \\ H = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} \end{cases}$$
alternative basis
for su(2) $\otimes \mathbb{C}$

commutation relations : [H,E] = HE - EH = E - (-E) = 2E[H,F] = -2F[E,F] = H

Main calculation (for reprint of (ie algebras)
Suppose we have a representation V of Su(2)
i.e.
$$p(\pi')$$
 $p: Su(2) \rightarrow L(V)$
 $g([a,b]) = [g(a),g(b)].$
(D) Suppose $v \in V$ st. $g(H)(v) = Hv = kv$
 v is a vector with weight k
for the U(1) action $U(0) = e^{i\theta H} C V$
Then apply E :
what is Ev ?
weight of
 $HEv = (EH + 2E)v$
 $= EHv + 2Ev$
 kv
 $= (k+2)Ev$
If v has wit k , Ev has wit $k+2$



$$\frac{\text{Def}^{n}}{\text{st. } \text{Ev=20}} \quad \text{is called a highest weight}}_{\text{vector } \mathcal{U}} \quad \text{weight } k.$$

$$\frac{\text{even}}{\text{suppose } \mathcal{U}} \quad \frac{1}{2} \quad \frac{1}{2} \quad \frac{1}{3} \quad \frac{$$

So for have
$$(v, Fv, F^2v)$$
 of uts 2,0,-2.
Claim: $F(F^2v) = D$
 $V = Span(v, Fv, F^2v)$ is irred. represe





Thus: eveny f.dim. irred repin of SU(2)
is one of the following:

$$\frac{dim}{1}$$

$$\frac{1}{3 n + 0}$$

$$\frac{dim}{3 n + 0}$$

$$\frac{dim}{1}$$

$$\frac{1}{3 n + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{1}{3 n + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$\frac{dim}{1 + 3 n + 0}$$

$$\frac{dim}{1 + 0}$$

$$U[x_{1},...,x_{n}] = \bigoplus_{d=0}^{\infty} Sym^{d} V$$

$$V = Span(x_{1},...,x_{n}).$$

$$V = C^{2} \text{ standard representation of SU(2).}$$
apply natural operations to $V \rightarrow Produce$ been reprine.
 $e.g. \odot \quad V \otimes V$

$$SU(2) \neq U \cdot (v, \otimes v_2) = (Uv_1) \otimes (Uv_2)$$

(2)
$$Sym^2 V$$

 U
 $U(V_1 \otimes V_2 + V_2 \otimes V_1) = U_{V_1} \otimes U_{V_2} + U_{V_2} \otimes U_{V_1}$
(3) $Sym^2 V$

Q.: If
$$V = C^2$$
 and we produce $W = Sym^d V$
which rep'n in classif. is W ?
Is it even irreducible?
EX: $Sym^2 V$
 $V = Span(e_{-}, e_{-})$
 e_{-}
 e_{+}
 $V = Span(e_{-}, e_{-})$
 e_{-}
 e_{+}
 $\pi'(H) (v_{1} \otimes v_{2}) = Hv_{1} \otimes Uv_{2}$
 $\pi'(H) (e_{+} \otimes e_{+}) = He_{+} \otimes e_{+} + e_{+} \otimes He_{+}$
 $= 2(e_{+} \otimes e_{+}) \leq -2$

$$\pi'(E) (e_{\pm} \otimes e_{\pm}) = (Ee_{\pm}) \otimes e_{\pm} + e_{\pm} \otimes Ee_{\pm}'$$

$$\stackrel{highest}{=} = 0$$

$$\stackrel{highest}{=} ut_{v}, \quad with weight \lambda$$

$$\Rightarrow Sym^{2} (\mathbb{C}^{2}) \quad is \quad irred \quad repin \quad of \quad SU(2)$$

$$w| \quad highest \quad uf 2.$$
Same ang.
$$\Rightarrow Sym^{d} \mathbb{C}^{2} \quad is$$

$$the \quad (d+1) - dim^{n}$$

$$repin \quad of \quad SU(2)$$